AMO RS- E 4R

BN

AFC : RRBY g TFi%EE AAC : RIREH E1%EE AFL : RIRBI N F &5R
@ \I @/ R

) 4 W

AAL : FRERBYELE) AMC : FRERBYSMIF15EE AMD : RIRBITTIE= i@

|/ =4 \AT“
4/
s 7




AN % 3-8 4 R

BRERAER

AFC : RIEBRI A ST H%ER

= ERiS | ABFT | BEERERL | HF R2 L HEX1 | HEX2 D
i AFC401 1/8 4 M7x1.0 | 3.8 23 9 12 1.8
O @J AFC601 1/8 6 M10-24 | 5.6 25.5 12 12 3
AFC801 1/8 8 7/16-24 | 6.9 26.5 14 12 4.5
AFC602 1/4 6 M10-24 | 5.6 28.5 12 17 3
AFC802 1/4 8 7/16-24 | 6.9 29.5 14 17 4.5
AFC1002 1/4 10 1/2-24 8.3 30.5 15 17 5.2
iy, AFC1202 1/4 12 M17-24 | 10.3 32 19 17
AFC603 3/8 M10-24 | 5.6 28.5 12 21
o AFC803 3/8 7/16-24 | 6.9 29.5 14 21 4.5
[OHEX1  OHEX2 AFC1003 3/8 10 1/2-24 8.3 30.5 15 21 5.2
AFC1203 3/8 12 M17-24 | 10.3 32 19 21
AFC604 1/2 M10-24 | 5.6 32 12 24
AFC804 1/2 7/16-24 | 6.9 33 14 24 4.5
AFC1004 1/2 10 1/2-24 8.3 34 15 24 5.2
AFC1204 1/2 12 M17-24 | 103 | 35.5 19 24
AFC1_401 1/8 1/4 M10-24 | 5.6 25.5 12 12
AFC5_1601 1/8 5/16 7/16-24 | 6.9 26.5 14 12 4.5
AFC1_402 1/4 1/4 M10-24 | 5.6 28.5 12 17 3
AFC5_1602 1/4 5/16 7/16-24 | 6.9 29.5 14 17 4.5
AFC3_802 1/4 3/8 1/2-24 8.3 30.5 15 17 5.2
AFC1_202 1/4 1/2 M17-24 | 10.3 32 19 17
AFC1_402 3/8 1/4 M10-24 | 5.6 28.5 12 21
AFC5_1603 3/8 5/16 7/16-24 | 6.9 29.5 14 21 4.5
AFC3_803 3/8 3/8 1/2-24 8.3 30.5 15 21 5.2
AFC1_203 3/8 1/2 M17-24 | 10.3 32 19 21 8
AFC1_404 1/2 1/4 M10-24 | 5.6 32 12 24 3
AFC5_1604 1/2 5/16 7/16-24 | 6.9 33 14 24 4.5
AFC3_804 1/2 3/8 1/2-24 8.3 34 15 24 5.2
AFC1_204 1/2 1/2 M17-24 | 10.3 | 35.5 19 24 8
AAC : FRIRHHE1EEE
EmEER | BEREERL BT R2 L HEX1 HEX2 D
AAC4 4 M7X1.0 3.8 27 9 8 1.8
AAC6 M10-24 5.6 32 12 12 3
AACS 7/16-24 6.9 34 14 12 4.5
AAC10 10 1/2-24 8.3 36 15 12.7 5.2
AAC12 12 M17-24 10.3 40 19 17
AAC1_4 1/4 M10-24 5.6 32 12 12
AAC5_16 5/16 7/16-24 6.9 34 14 12 4.5
AAC3_8 3/8 1/2-24 8.3 36 15 12.7 5.2
AAC1_2 1/2 M17-24 11 40 19 17 8




AN % 3-8 4 R 5

BRERAER

AFL : FREEZI P ST & ER

EmEEE BT | BRABRR1| BHYF R2 L1 L2 | HEX1 | HEX2

AFL601 1/8 6 M10-24| 56 | 23 | 21 | 12 | 10 3

AFL801 1/8 8 7/16-24| 69 | 23 | 22 | 14 | 10 | 45

AFL602 1/4 6 M10-24| 56 | 26 | 225 | 12 | 10 3

AFL802 1/4 8 7/16-24| 69 | 26 | 235 | 14 | 10 | 45

AFL1002 1/4 10 1/224 | 83 | 26 | 245| 15 | 10 | 52

AFL1202 1/4 12 M17-24| 103 | 27 | 29 | 19 | 14 7

AFL603 3/8 6 M10-24| 56 | 28 | 25 | 12 | 14 3

B T AFL803 3/8 8 7/16-24| 69 | 28 | 26 | 14 | 14 | 45

- Sy El AFL1003 3/8 10 1/224 | 83 | 28 | 21 | 15 | 14 | 52
e} AFL1203 3/8 12 M17-24| 103 | 28 | 29 | 19 | 14
'Ei! AFL1_401 1/8 1/4 M10-24| 56 | 23 | 21 | 12 | 10

DHEX2 L2 | lonex1 | AFL5_1601 |  1/8 516 | 7/16-24| 69 | 23 | 22 | 14 | 10 | 45

AFL1_402 1/4 1/4 M10-24| 56 | 26 | 225 | 12 | 10 3

AFL5_1602 | 1/4 5/16 | 7/16-24| 69 | 26 | 235 | 14 | 10 | 45

AFL3_802 1/4 3/8 1/224 | 83 | 26 | 245 | 15 | 10 | 5.2

AFL1_202 1/4 1/2 Mi7-24| 11 | 27 | 29 | 19 | 14 8

AFL1_403 3/8 1/4 M10-24| 56 | 28 | 25 | 12 | 14 3

AFL5_1603 | 3/8 5/16 |7/16-24| 69 | 28 | 26 | 14 | 14 | 45

AFL3_803 3/8 3/8 1224 | 83 | 28 | 21 | 15 | 14 | 52

AFL1_203 3/8 1/2 Mi7-24| 11 | 28 | 29 | 19 | 14 7

EmEER | BRAEER B R2 L HEX1 HEX2 D

AAL4 4 M7X1.0 3.7 20.2 9 8.5 18

AAL6 6 M10-24 5.6 21.5 12 8.5 3

AALS 8 7/16-24 6.9 23 14 8.5 45

AAL10 10 1/2-24 8.3 24 15 8.5 5.2

T= OHEXA AAL12 12 M17-24 103 29.5 19 12 7

_,(ﬁ (\? AAL1_4 1/4 M10-24 5.6 215 12 8.5 3

“o* ) AAL5_16 5/16 7/16-24 6.9 23 14 8.5 4.5

~ = AAL3_8 3/8 1/2-24 8.3 24 15 8.5 5.2

OHEX2) L e AAL1_2 12 M17-24 11 29.5 19 12 8




AN % 3-8 4 R

BRERAER

AMC : FREERISN F 48R

EmBR NEFT | BRAERRI B R2 L HEX1 [ HEX2 D
AMC401 1/8 4 M7x1.0 3.8 24.5 9 10 1.8
AMC601 1/8 6 M10-24 5.6 27 12 10 3
AMC801 1/8 8 7/16-24 6.9 28 14 12 4.5
AMC1001 1/8 10 1/2-24 8.3 29 15 12.7 5.2
AMC402 1/4 M7x1.0 3.8 28 9 14 1.8
AMC602 1/4 M10-24 5.6 30.5 12 14 3
AMC802 1/4 7/16-24 6.9 31.5 14 14 4.5
AMC1002 1/4 10 1/2-24 8.3 32.5 15 14 5.2
AMC1202 1/4 12 M17-24 10.3 34 19 17
AMC603 3/8 M10-24 5.6 30.5 12 17
AMC803 3/8 7/16-24 6.9 315 14 17 4.5
AMC1003 3/8 10 1/2-24 8.3 32.5 15 17 5.2
AMC1203 3/8 12 M17-24 10.3 34 19 17
AMC604 1/2 M10-24 5.6 34 12 21
AMC804 1/2 7/16-24 6.9 35 14 21 4.5
AMC1004 1/2 10 1/2-24 8.3 36 15 21 5.2
AMC1204 1/2 12 M17-24 10.3 37.5 19 21
AMC1_401 1/8 1/4 M10-24 5.6 27 12 10
AMC5_1601 1/8 5/16 7/16-24 6.9 28 14 12 4.5
AMC3_801 1/8 3/8 1/2-24 8.3 29 15 12.7 5.2
AMC1_402 1/4 1/4 M10-24 5.6 30.5 12 14 3
AMC5_1602 1/4 5/16 7/16-24 6.9 31.5 14 14 4.5
AMC3_802 1/4 3/8 1/2-24 8.3 32.5 15 14 5.2
AMC1_202 1/4 1/2 M17-24 11 34 19 17
AMC1_403 3/8 1/4 M10-24 5.6 30.5 12 17
AMC5_1603 3/8 5/16 7/16-24 6.9 31.5 14 17 4.5
AMC3_803 3/8 3/8 1/2-24 8.3 32,5 15 17 5.2
AMC1_203 3/8 1/2 M17-24 11 34 19 17 8
AMC1_404 1/2 1/4 M10-24 5.6 34 12 21 3
AMC5_1604 1/2 5/16 7/16-24 6.9 35 14 21 4.5
AMC3_804 1/2 3/8 1/2-24 8.3 36 15 21 5.2
AMC1_204 1/2 1/2 M17-24 11 37.5 19 21
AMC1_4M5 M5 1/4 M10-24 5.6 25.5 12 10




AN % 3-8 4 R 5

BRERAER

AMD : RIRBIFIZ = iE

OHEX1

EmiEk EFT | HREERI| BEH R2 L1 L2 HEX1 | HEX2 D
AMD401 1/8 4 M7X1.0 | 3.7 18.2 | 195 9 8.5 1.8
AMD601 1/8 6 M10-24| 5.6 18.2 | 215 12 8.5 3
AMD801 1/8 8 7/16-24| 6.9 18.2 23 14 8.5 4.5
AMD1001 1/8 10 1/2-24 | 83 18.2 24 15 8.5
AMDG602 1/4 M10-24| 5.6 225 22 12 10
AMD802 1/4 7/16-24| 6.9 22.5 23 14 10 4.5
AMD1002 1/4 10 1/2-24 | 83 22,5 24 15 10 5.2
AMD1202 1/4 12 M17-24| 103 | 22.5 | 295 19 12 7
AMDG603 3/8 6 M10-24| 5.6 24 225 12 10 3
AMD803 3/8 8 7/16-24| 6.9 22.3 23 14 10 4.5
AMD1003 3/8 10 1/2-24 | 8.3 22.3 24 15 10 5.2
AMD1203 3/8 12 M17-24| 10.3 | 24.7 | 29.5 19 12
AMD604 1/2 M10-24| 5.6 27.5 25 12 14
AMD804 1/2 7/16-24| 6.9 27.5 26 14 14 4.5
AMD1004 1/2 10 1/2-24 | 8.3 27.5 27 15 14 5.2
AMD1204 1/2 12 M17-24| 103 | 29.5 | 29.5 19 14
AMD1_401 1/8 1/4 M10-24| 5.6 18.2 | 21.5 12 8.5
AMDS5_1601 1/8 5/16 7/16-24| 6.9 18.2 23 14 8.5 4.5
AMD3_801 1/8 3/8 1/2-24 | 8.3 18.2 24 15 8.5
AMD1_402 1/4 1/4 M10-24| 5.6 22.5 22 12 10
AMD5_1602 1/4 5/16 7/16-24| 6.9 225 23 14 10 4.5
AMD3_802 1/4 3/8 1/2-24 | 83 22.5 24 15 10 5.2
AMD1_202 1/4 1/2 M17-24| 11 24 29.5 19 12 7
AMD1_403 3/8 1/4 M10-24| 5.6 22.3 | 225 12 10
AMD5_1603 3/8 5/16 7/16-24| 6.9 22.3 23 14 10 4.5
AMD3_803 3/8 3/8 1/2-24 | 83 22.3 24 15 10 5.2
AMD1_203 3/8 1/2 M17-24| 11 247 | 29.5 19 12 7
AMD1_404 1/2 1/4 M10-24| 5.6 27.5 25 12 14
AMD5_1604 1/2 5/16 7/16-24| 6.9 27.5 26 14 14 4.5
AMD3_804 1/2 3/8 1/2-24 | 83 27.5 27 15 14 5.2
AMD1_204 1/2 1/2 M17-24| 11 29.5 | 29.5 19 14 8




AN % 3-8 4 R

BRERAER

AML : FREEZUS F T

EmEEE BT | BRAB®R1| BHYF R2 L1 L2 | HEX1 | HEX2
AFL601 1/8 6 M10-24| 5.6 23 21 12 10 3
AFL801 1/8 8 7/16-24| 6.9 23 22 14 10 4.5
AFL602 1/4 6 M10-24 | 5.6 26 | 225 | 12 10 3
AFL802 1/4 8 7/16-24| 6.9 26 | 235 | 14 10 4.5
AFL1002 1/4 10 1/2-24 | 8.3 26 | 245 | 15 10 5.2
AFL1202 1/4 12 M17-24 | 10.3 | 27 29 19 14 7
AFL603 3/8 6 M10-24 | 5.6 28 25 12 14 3
AFL803 3/8 8 7/16-24| 6.9 28 26 14 14 4.5
AFL1003 3/8 10 1/2-24 | 8.3 28 27 15 14 5.2
= AFL1203 3/8 12 M17-24| 10.3 | 28 29 19 14
LHE AFL1_401 1/8 1/4 M10-24 | 5.6 23 21 12 10
AFL5_1601 1/8 5/16 7/16-24| 6.9 23 22 14 10 4.5
AFL1_402 1/4 1/4 M10-24| 5.6 26 | 225 | 12 10 3
AFL5_1602 1/4 5/16 7/16-24| 6.9 26 | 235 | 14 10 4.5
AFL3_802 1/4 3/8 1/2-24 | 8.3 26 | 245 | 15 10 5.2
AFL1_202 1/4 1/2 M17-24 | 11 27 29 19 14 8
AFL1_403 3/8 1/4 M10-24| 5.6 28 25 12 14 3
AFL5_1603 3/8 5/16 7/16-24| 6.9 28 26 14 14 45
AFL3_803 3/8 3/8 1/2-24 | 8.3 28 27 15 14 5.2
AFL1_203 3/8 1/2 M17-24 | 11 28 29 19 14 7




AN % 3-8 4 R

BEREBR
AMT : RERBIF R =38
EmEE BT | EREERRL| BHF R2 L1 L2 | HEX1 | HEX2 | D
AMT401 1/8 4 M7X1.0| 3.7 | 18.2 | 19.5 9 8.5 1.8
AMT601 1/8 6 M10-24 | 5.6 | 18.2 | 21.5 | 12 8.5 3
AMT801 1/8 8 7/16-24| 6.9 | 182 | 23 14 8.5 | 45
AMT1001 1/8 10 1/2-24 | 83 | 182 | 24 15 8.5
AMT602 1/4 M10-24| 5.6 | 22.5 | 22 12 10
AMT802 1/4 7/16-24| 6.9 | 225 | 23 14 10 4.5
AMT1002 1/4 10 1/2-24 | 83 | 225 | 24 15 10 5.2
AMT1202 1/4 12 M17-24 | 10.3 | 22.5 | 29.5 | 19 12 7
AMT603 3/8 6 M10-24| 5.6 24 | 225 | 12 10 3
AMT803 3/8 8 7/16-24| 6.9 | 223 | 23 14 10 4.5
AMT1003 3/8 10 1/2-24 | 83 | 223 | 24 15 10 5.2
OHEX1 OHEX2 AMT1203 3/8 12 M17-24| 10.3 | 24.7 | 295 | 19 12
AMT604 1/2 M10-24| 5.6 | 27.5 | 25 12 14
AMT804 1/2 7/16-24| 6.9 | 275 | 26 14 14 4.5
AMT1004 1/2 10 1/2-24 | 83 | 275 | 27 15 14 5.2
AMT1204 1/2 12 M17-24 | 10.3 | 29.5 | 29.5 | 19 14
AMT1_401 1/8 1/4 M10-24| 5.6 | 182 | 215 | 12 8.5
AMT5_1601 1/8 5/16 7/16-24| 69 | 182 | 23 14 85 | 45
AMT3_801 1/8 3/8 1/2-24 | 83 | 182 | 24 15 8.5
AMT1_402 1/4 1/4 M10-24 | 5.6 | 225 | 22 12 10
AMT5_1602 1/4 5/16 7/16-24| 6.9 | 225 | 23 14 10 4.5
AMT3_802 1/4 3/8 1/2-24 | 83 | 225 | 24 15 10 5.2
AMT1_202 1/4 1/2 M17-24| 11 24 | 295 | 19 12 7
AMT1_403 3/8 1/4 M10-24 | 5.6 | 22.3 | 225 | 12 10
AMT5_1603 3/8 5/16 7/16-24| 6.9 | 223 | 23 14 10 4.5
AMT3_803 3/8 3/8 1/2-24 | 83 | 223 | 24 15 10 5.2
AMT1_203 3/8 1/2 M17-24 | 11 | 247 | 29.5 | 19 12 7
AMT1_404 1/2 1/4 M10-24 | 5.6 | 27.5 | 25 12 14
AMT5_1604 1/2 5/16 7/16-24| 6.9 | 275 | 26 14 14 4.5
AMT3_804 1/2 3/8 1/2-24 | 83 | 275 | 27 15 14 5.2
AMT1_204 1/2 1/2 M17-24| 11 | 29.5 | 29.5 | 19 14 8
EME | BRASER B R2 L HEX1 HEX2 D
AAT4 4 M7X1.0 3.8 19.7 9 8.5 1.8
AAT6 M10-24 5.6 21.5 12 8.5 3
AAT8 7/16-24 6.9 23 14 8.5 45
AAT10 10 1/2-24 8.3 24 15 8.5 5.2
AAT12 12 M17-24 10.3 29.5 19 12 7
AAT1_4 1/4 M10-24 5.6 21.5 12 8.5
AAT5_16 5/16 7/16-24 6.9 23 14 8.5 45
AAT3_8 3/8 1/2-24 8.3 24 15 8.5 5.2
AAT1_2 1/2 M17-24 11 29.5 19 12 8




